EARAROBEEIERT — 2 N— IBISH —F

20155108138 (K) 13EIFI5I4H

IPER > 51 XC (hREBE) H5FR2KOP [xwl 8 [1memml - | v ) oo mE
[x&<£] 1 % :3,000,000 § ~ 23 :600,000 @ ~ 37 :450,000 @ ~ 4 3 :300,000 M ~ 5 7 :150,000 M
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
c= e NETL) :51. -2-1- . — EATF (dtEE
i 4| B—EF>3 o2 e 1(52)1 2-2-1-1 | 40.6 1 (ig) 7%;: 3E]
o4O B:Fv—LIPTTL plit e
= R SUEHAT :51. -1-1- X - AllFHE (dE)
5 3| ZF1—n%LY 42 =y 2dn 1(511)3 1-1-1-1 | 40.8 4 (5:);) ezl i
RiVIWIN—F v —L B:JVhyda 11— NETHS
S —_» 4 o2 | RAEEA 1:51.4 5-4-3-3 | 40.6| — 2 472 | HEEGL (L)
3/5|5| YV =7~ 55.0 (1/2) —10) | B) 77> F;Eta%
Y92G5 B:)INF =N 55 ki
—ss e HERE : -6-3- — WEePE (AbisE)
alz] 7 | BUF s o2 pa s 1.(521).8 4-6-3-4 | 41.0 5 (5_080) e i
RN—NFIH LT~ BFAXITYT #"H 53
> RPN # o2 | BIEBEE 1:52.5 8-8-8-8 |40.6| — | 6 | 510 |B/IIFHE (tiEE)
511]1]328—591>7 5.0 o ) | ) w7
R:xg—YrsO-x B:XEE HET7— L
o Mt :53. =7 . = iOs— (deiEH)
6lglg| &y FT7—IK ) ! s 420 ! ?_720) FRIE
LHAL b= B2y F S xHA FIRI IE
i I 4 42 | EATEEM 1:54.0 6-4-6-6 | 43.1| — 3 496 | EHRAM (tiEE)
7lglg|vzIF> 55.0 @ © (g) $oF-L-yry
Ry —3IUTY BRFHREXHANT =¥ Ty — L
§,= = 2 | AllE 1:55.9 3-3-3-7 |45.1| — 8 454 | REE (dtimiE)
sf6lv=x2-FL17 5.0 ® Gy | ) s
R:YZRE2—3I=Z24— B:J)yg—TINT [EvN e ]
— o, s BREBTRSE - - - - - - ArRigE (dbimE
. 2|77 LoFd— o2 54.0 (B3H) (=) IJ-IK%BH .
R/ BT )—5TY — (B) #EaA—FKL—a>AETr
® I—F—@EBIERL
|S=7r= 3,4,6,7,5,8,9,1
20—+— |[3,4,6,(5,8),7,9,1
31—7F— (3,4),(5.,6,7),8,9,1
43—+ — (3,4),5,7,9,8,6,1
[ RN
-y 4 1400 | [ 74 K 3-4 180 | | # & 3-4 370 | | =& 3-4-5 410/
# B 4 110M 4-5 200M B E 3-4 290 EE 4-3-5 1,120M
3 140 3-5 370M BB 4-3 500
5 140M

ABICOVWTRDTEEERROODE. TR LIV,




